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Example 3.7
Draw the arrow network for the project given next.
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Min: Backward Process

Sl oS ey ploj nind = Sk o5 98y olej 0293 Voo ] culld 955 oloj cuyips LS = LF-D

(LFi) Tos gy oloj nims = Min{LF;- D i} T o 2
Es Dij EF @
( )LS LF

37 Seulpilled plol 5 gl Ay 4y Byno LF — EF M3l Lo a5 & 1) Igaws 38

B 0  0+6=6 6-6=0 6 0
C 6  6+10=16 16-10=6 16 0
D 6  6+3=9 16-3=13 16 7
E 16 16+5=21 21-5=16 21 0
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15. Draw both the arrow network and the node network for the following project:
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16. Draw both the arrow network and the node network for the following project:
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4-6 5 10 10+5=15 22 22-5=17 7 15-15=0

4-7 2 10 10+2=12 32 32-2=30 20  32-12=20

5-7 12 20 20+12=32 32 32-12=20 0 32-32=0

6-7 10 15 15+10=25 32 32-10=22 7 32-25=7
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Example 4.2

Draw the node diagram and perform the CPM computations for the schedule
shown next.

i
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Finish

5,09
Figure 4.7 Node diagram for Example 4.2.
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0] 5[5 5[1]6 6] 2[8
ﬂ Activity 7 5 — 1 6 || 7

Total Float 0[0T5 617 77119

\ TF=LS-ES o TF=LF-EF % Total Float o

oS 65l 43 31T s gl

Example 5.1
Perform the CPM calculations for the network shown in Figure 5.22.

FF=MIN(5,5)-5=0 FF=MIN(6)-6=0 FF=MIN(9)-8=1
0] 5[5 5[ 1]6 6] 2] 8
5) i - 7

o[ o[s F[I7 ENE
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author wanted to show it as dangling for the purpose of illustration.
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CV (Cost Variance)= EV — CV = BCWP- ACWP=450-480=-30

SV (Schedule Variance)= EV — PV = BCWP- BCWS=450-550=-100
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g giingle Sl y 4l slassl -1 IR

« Cost Performance Index (CPI)

BCwWP = 450 = 0.93
ACWP 480

{> 1.0 indicates that work accomplished has cost less than planned}
{ < 1.0 indicates that work accomplished has cost more than planned}

Perform an EV analysis. Note that the “Mass Excavation” line is a sum-
mary of the 3 lines below.

Solution

The solution, using the
follows:

7.3, is

Activity

TOTAL BUDGET ($) X ¢
% COMPLETE 3263 39.00 15.00 38.18

ACWP ($) 59,700 17.950 5.850 35.900
BCWP ($) 57.600 19,500 6.600 31,500
BCWS ($) 66.188 18750 16,500 30938
oV ($) -2,100 1550 750 ~4.400 ic]
SV ($) -8,588 750 —-9.900 562 h
SV (DAYS) -195 017 -224 013
cPl 096 1.00 113 088
SPI 087 104 040 102 uf
FCV ($) -6.436 3974 5,000 -11,524
FSV (DAYS) -5.96 0.44 -14.96 0.
Mass Excavation  TOB11110 39000  — 176500 13200 50.700
Common Earth ~ TOB11111 20000 250 50000  7.800 17.950
Clay TOB11112 8000 550 44000 1200 5850
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